

jeżeli $\lim_{n \rightarrow \infty} \frac{a_{n+1}}{a_n} =$
 > 1 - szeregi jest rosnący
 $= 1$ - nie wiadomo
 < 1 - szeregi jest zbieżny

$$\left\{ \frac{3^n}{3^{n+1}} = 3^{n-(n+1)} = 3^{-1} \right.$$

① $\sum_{n=1}^{\infty} \frac{1 \cdot 3 \cdot 5 \cdot \dots \cdot (2n-1)}{3^n \cdot n!}$

$$2(n+1)-1 = 2n+1$$

$$\lim_{n \rightarrow \infty} \frac{1 \cdot 3 \cdot 5 \cdot \dots \cdot (2n-1) \cdot (2(n+1)-1)}{3^{n+1} \cdot (n+1)!} \cdot \frac{3^n \cdot n!}{1 \cdot 2 \cdot 3 \cdot \dots \cdot (2n-1)} =$$

$$= \lim_{n \rightarrow \infty} \frac{(2n-1) \cdot (2n+1)}{(2n-1)} \cdot 3^{n-(n+1)} \cdot \frac{n!}{n! \cdot (n+1)} = \lim_{n \rightarrow \infty} \frac{2n+1}{3 \cdot (n+1)} = \left\{ \begin{array}{l} \frac{2}{3} \\ \frac{1}{n} \end{array} \right.$$

$$= \lim_{n \rightarrow \infty} \frac{2 + \frac{1}{n} \rightarrow 0}{3 + \frac{3}{n} \rightarrow 0} = \frac{2}{3} < 1 \quad \text{szeregi} \sum_{n=1}^{\infty} \frac{1 \cdot 2 \cdot 3 \cdot \dots \cdot (2n-1)}{3^n \cdot n!} \quad \text{jest zbieżny}$$

2 $\sum_{n=1}^{\infty} \frac{3^n}{2n!}$

$$\lim_{n \rightarrow \infty} \frac{3^{n+1}}{2(n+1)!} \cdot \frac{2n!}{3^n} = \lim_{n \rightarrow \infty} \frac{3^{n+1-n}}{2(n+1)} \cdot \frac{2n!}{1} = \lim_{n \rightarrow \infty} \frac{3}{n+1} = \lim_{n \rightarrow \infty} \frac{\frac{3}{n} \rightarrow 0}{1 + \frac{1}{n} \rightarrow 0} = 0 < 1$$

szeregi $\sum_{n=1}^{\infty} \frac{3^n}{2n!} \rightarrow$ zbieżny

3 $\sum_{n=1}^{\infty} \frac{2^n + 3^n}{5^n}$

$$\lim_{n \rightarrow \infty} \frac{2^{n+1} + 3^{n+1}}{5^{n+1}} \cdot \frac{5^n}{2^n + 3^n} = \lim_{n \rightarrow \infty} \frac{2^{n+1} + 3^{n+1}}{2^n + 3^n} \cdot \frac{1}{5} = \lim_{n \rightarrow \infty} \frac{1}{5} \cdot \frac{\frac{2^{n+1}}{2^n} + \frac{3^{n+1}}{3^n}}{\frac{2^n}{2^n} + \frac{3^n}{3^n}} = \frac{1}{5} \cdot \frac{2 + 3}{1 + 1} = \frac{5}{5} < 1$$

$$= \lim_{n \rightarrow \infty} \frac{1}{5} = \frac{1}{5}$$



Kryterium Cauchy'ego

$$\lim_{n \rightarrow \infty} \sqrt[n]{a_n}$$

$$\sqrt[n]{2^n} = 2$$

$$\sqrt[n]{a} = 1$$

$$\sum_{n=1}^{\infty} \frac{\left(\frac{n+1}{n}\right)^{n^2}}{2^n}$$

$$\lim_{n \rightarrow \infty} \sqrt[n]{\frac{\left(1+\frac{1}{n}\right)^{n^2}}{2^n}} = \lim_{n \rightarrow \infty} \frac{1}{2} \cdot \sqrt[n]{\left(1+\frac{1}{n}\right)^{n^2}} = \lim_{n \rightarrow \infty} \frac{1}{2} \cdot \sqrt[n]{\left(1+\frac{1}{n}\right)^n \cdot \left(1+\frac{1}{n}\right)^n} =$$

$$= \lim_{n \rightarrow \infty} \frac{1}{2} \cdot \sqrt[n]{e^2} = \frac{1}{2} e \approx \frac{2.718}{2} > 1 \quad \text{szerey rosniecy}$$

$$\sum_{n=1}^{\infty} \frac{n \cdot 7^n}{2^{n+1} \cdot 3^n}$$

$$\lim_{n \rightarrow \infty} \sqrt[n]{\frac{n \cdot 7^n}{2^{n+1} \cdot 3^n}} = \lim_{n \rightarrow \infty} \frac{\sqrt[n]{n} \cdot \sqrt[n]{7^n}}{\sqrt[n]{2^{n+1}} \cdot \sqrt[n]{3^n}} = \frac{7}{2 \cdot 3} > 1 \quad \text{szerey rosniecy}$$

$\sqrt[n]{2^{n+1}} = \sqrt[n]{2^n \cdot 2} = \sqrt[n]{2^n} \cdot \sqrt[n]{2} = 2 \cdot 1 = 2$

$$\sum_{n=1}^{\infty} \frac{2^n + 3^n}{5^n}$$

Twierdzenie o trzech ciagach

$$\lim_{n \rightarrow \infty} \sqrt[n]{\frac{2^n + 3^n}{5^n}} = \lim_{n \rightarrow \infty} \sqrt[n]{\left(\frac{2}{5}\right)^n + \left(\frac{3}{5}\right)^n} = \lim_{n \rightarrow \infty} \sqrt[n]{\frac{2^n}{5^n} + \frac{3^n}{5^n}} =$$

$$\frac{\frac{2}{5} + \frac{3}{5}}{1 \cdot 5} = \frac{1}{5} = \frac{1}{5}$$

$$\lim_{n \rightarrow \infty} \sqrt[n]{\left(\frac{3}{5}\right)^n} = \frac{3}{5} < 1$$

$$\lim_{n \rightarrow \infty} \sqrt[n]{\left(\frac{2}{5}\right)^n + \left(\frac{3}{5}\right)^n} \leq \lim_{n \rightarrow \infty} \sqrt[n]{\left(\frac{3}{5}\right)^n + \left(\frac{3}{5}\right)^n} = \lim_{n \rightarrow \infty} \sqrt[n]{2 \cdot \left(\frac{3}{5}\right)^n} = \frac{3}{5} < 1$$

$$\lim_{n \rightarrow \infty} \sqrt[n]{\left(\frac{3}{5}\right)^n} = \frac{3}{5} < 1$$

$$\frac{3}{5} < 1 \quad \sqrt[n]{2} = 1 \quad \sqrt[n]{\left(\frac{3}{5}\right)^n} = \frac{3}{5}$$

szerey $\sum_{n=1}^{\infty} \frac{2^n + 3^n}{5^n}$ jest zbiezny